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ENGLISH VERSION
Instructions : (1) All questions are compulsory.
(2) Marks are denoted on right side.
1 (a) What is Skewness ? Explain types of Skewness. 10
(b) Explain the different measures of dispersion. 10
OR
1 For the given data find coefficient of QD, coefficient of 20
variation, coefficient of skewness by Karl Pearson's and
Bowley's method.
Class |[15-20[20-25][25-30[30-35[35-40[40-45[45-50[50-55[55-60
Frequency | 3 9 14 20 35 09 06 02 02
2 (a) Explain uses of index number. 5

(b) From the given, find L, P, F and DB index number 15
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Commodity Base year Current year
Price Quantity Price | Quantity
A 3.00 26 4.50 30
D 8.40 15 10.20 20
W 6.50 12 9.00 15
I 10.80 05 12.50 10
T 4.00 07 05.00 09
OR
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(@) Prove that Fisher's index number is an ideal index 10
number.

(b) Considering the year 2016 as base year find Living 10
index number by the family Budget method for current
year 2017

Commodity Base year Current year

Price Quantity Price
A 14 4 21
K 24 6 36
Y 50 2 44
H 32 16 40
J 18 4 27
0 36 4 45

(a) Explain sampling error and non-sampling error. 5

(b) For the given data find population mean and 10
variance of stratified sample mean.

N; = 60 Y, =8 Sy =12 n =10

N, = 30 v,=6 Sy =10 n,=6

N; = 10 Y =3 Sy =45 n, =3
OR

(a) Explain simple random sampling method. 5

(b) For a population characteristic measures are 10
2, 4, 10, 20, 24. Sample of size 2 is drawn without
replacement. Prove that mean of sample means and
population mean are equal. Also find variance of sample
mean.

(a) Write the properties of correlation coefficient. 5

(b) Find correlation coefficient. 10

x 11100 | 1200 | 1300 [ 1400 [ 1500 [1600 [ 1700 | 1800 | 1900 | 2000

0.3010.291029]025(024 (024 (0241029 ]0.18]0.15
OR

(a) Explain the difference between correlation and 5
regression.

(b) Obtain both the regression lines : 10

x |46 [42]44 4043 ]41]45
40 [ 387136 |35 39 [37 | 41
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